Pl N,:=154.581 E,:=178.185

P2 N,:=95871  E,:=35.874

2 2 E,—E, 67
D, ,:=\/(E,—E,) +(N,—N,) =153.946 d):=atan|———|=| 34 DMS
N2=Ni) | 53.555)
a:=[567.582° O
247
(o1 J:=180°+67.582°=| 34 | DMS
55.2 |
P1 N,:=205.585  E;:=171.422
¢, 5:=DMS(125,10,55)=2.185
D1_2:: 115.729
N:=115.729 - cos (¢, ,) =—66.68 Ny:=N,;+N=138.905
E:=115.729+sin (p; ,) =94.588 E,:=FE,+E=266.01
: £
VAR
_Pto, \QRIE ...-E.‘z'IE...
rsosc0 ss0a00
2 2
N,:=1200  E;:=5300 Dl_Q::\/ (5900—5300) +(1800—1200) =848.528
N,:=1800  E,:=5900 . .
Ny3:=1800  E3:=6700 Dl_Q::\/ (6700—5900) +(1800—1800) =800
45
oy Jf:=atan|——|=| 0| DMS
P12 . (N2—N1) 0
90
Y2 3 @y 3:=| 0 | DMS
0
45

:: 90°—45°=| 0| DMS

0



CONVERTIR

¢:=DMS (42,55,36)=0.749  a:=42 + 25, 35 49007
60 3600

b ::a-@:47.696
360

50

@:=0.874526 rad=| 6 DMS
23.936

. 0-874526-400 _ . .

27



